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  QUESTION 101Which is true when describing a connection replication in Cisco ACE? A.    It is not supported for SSL

connections.B.    It is not supported for non-SSL connections.C.    It can only be configured manually.D.    It has a maximum limit of

50,000 replicated connections. Answer: A QUESTION 102Which of the following are supported in Cisco Global Site Selector?

(Choose three.) A.    Full DNS functionality as a replacement of a DNSB.    Responds to a DNS query with A-recordC.    Forwards

queries to a name serverD.    Multiple A-recordsE.    DHCP functionality for the local hosts Answer: BCD QUESTION 103KAL-AP

on the Cisco ACE allows communication with Cisco ACE Global Site Selector, to report virtual IP and real server availability.

Which statement is true about KAL-AP? A.    It is a Cisco propriety keepalive.B.    It supports a maximum of 256 KAL-AP entries.

C.    It supports a maximum of 256 KAL-AP keepalives.D.    It is used for both Cisco and non-cisco load balancers Answer: A

QUESTION 104What is the purpose of this command in a Cisco Application Control Engine? switch/Admin# show np 1 me-stats

"-F0 v" A.    It displays the status of the internal SSL proxy structure associated with a vserver.B.    It displays the crypto-related

statistics for a single NP.C.    It is the same output of a "show stats crypto" client/server.D.    It shows details on HTTP session

entries. Answer: A QUESTION 105Cisco UCS provides integration interfaces and protocols to support heterogeneous data center

environments and supports standard monitoring and event notification systems, providing data to standard enterprise-management

tools.Which two of these list the primary Cisco UCS interfaces and industry standard-based read-only interfaces? (Choose two.) A.   

UCS Manager XML API and UCS CLIB.    SNMP, SMASH CLP, and CIM-XMLC.    UCS Manager, DCOS, and Local-mgmtD.   

SoL and NX-OSE.    debug-plugin and UCS Manager GUI Answer: AB QUESTION 106A virtual port channel (vPC) allows links

that are physically connected to two different Cisco Nexus devices to appear as a single port channel to a third device. Which are the

mandatory steps for configuring vPC? (Choose six.) A.    Enable feature vPCB.    Define domainsC.    Establish peer keepalive

connectivityD.    Create a peer linkE.    Configure the peer link as a trunk portF.    Create port channels and vPCsG.    Define port

channel load-balancing methodH.    Make sure configurations are consistent Answer: ABCDFH QUESTION 107When creating a

role in a Cisco Nexus 7000 Series Switch, rules are used to define the type of operations that a role will allow the user to perform.

Which two of these parameters cannot be applied as a rule? (Choose two.) A.    port-profileB.    commandC.    access-listD.   

feature-groupE.    OID Answer: AC QUESTION 108Overlay Transport Virtualization (OTV) overlay interface is a logical

multiaccess and multicast- capable interface that must be explicitly defined by the user and where the entire OTV configuration is

applied. Which statements are true about OTV overlay interface? (Choose two.) A.    When an OTV edge device receives a Layer 2

frame destined for a remote data center site, the frame is logically forwarded to the overlay interface.B.    The OTV edge device

performs the dynamic OTV encapsulation on the Layer 2 packet and sends it to the join interface toward the routed domain.C.   

When the OTV edge device receives a Layer 2 frame destined for a remote data center site, the frame is logically forwarded to the

join interface.D.    The OTV edge device performs the dynamic OTV encapsulation on the Layer 2 packet and sends it to the overlay
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interface toward the routed domain. Answer: AB QUESTION 109Refer to the exhibit. The network administrator is seeing N7K-1

having issues with VLAN 11, and interface VLAN 11 is resetting, causing frequent HSRP state changes. Which two actions would

reduce HSRP state changes? (Choose two.)A.    On N7K-1, configure the HSRP extended hold timer to 180, extending the HSRP

hello message hold time.B.    On N7K-2, configure the HSRP extended hold timer to 180, extending the HSRP hello message hold

time.C.    On N7K-1, configure the pre-empt delay minimum to 180 in order to delay N7K-1 from taking over as the HSRP active

router.D.    On N7K-2, configure the pre-empt delay minimum to 180 in order to delay N7K-2 from taking over as the HSRP active

router.E.    On N7K-2, increase the HSRP priority to 150.F.    On N7K-2, decrease the HSRP priority to 50. Answer: CE

QUESTION 110Overlay Transport Virtualization (OTV) join interface is used to source the OTV encapsulated traffic and send it to

the Layer 3 domain of the data center network. Which statements are true about OTV join interface? (Choose three.) A.    Join

interface is a Layer 3 entity, and with the Cisco NX-OS release 6.0, it can only be defined as a physical interface, physical

subinterface, Layer 3 port channel, or Layer 3 port channel subinterface.B.    A single join interface can be defined and associated

with a given OTV overlay.C.    Multiple overlays can also share the same join interface.D.    Join interface can be a loopback

interface.E.    The join interface is a Layer 3 entity that can be defined as a physical interface but not as a logical one. Answer: ABC 
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